3.14 Calculating Root Mean Squared Error: Tree location database. Assume you work as a natural resource manager in Oregon, and your supervisor is concerned about the quality of data that you are collecting with a GPS receiver. You supervisor has asked you to calculate the RMSE between GPS-collected coordinates and coordinates that had been collected by a digital total station. Both sets of coordinates are listed below.



Total

Total

Point
GPS-X
Station-X
GPS-Y
Station-Y


1
4934688.3
4934691.9
477311.7
477309.0

2
4934693.6
4934690.8
477310.5
477311.9

3
4934686.9
4934687.0
477316.1
477313.8

4
4934686.1
4934683.9
477312.7
477312.7

5
4934678.8
4934682.1
477310.2
477309.0

6
4934680.3
4934683.2
477307.6
477306.0

To address this problem, first determine the difference in the X and Y directions between the two data collectors, then use the standard RMSE calculations.

Answer: 3.3 m (see associated spreadsheet)

